HIT THE BULL’S EYE
TEST XXVII PREMODEL I
(GENERAL SCIENCE, THIRUKURAL, GENERAL ENGLISH)

1. Liquified Petroleum gas (LPG) contains mixture of
a. Octane and Propane b. Methane and Propene
c. Butane and Propane d. Octane and Butane
e. Answer not known
Sreuorssin’ L GuiGymedw eurwy (LPG) eigenn sevemeu Si@Lo?
a. o58Lem wmmId LGFTIGLIEH b. 1858me wmmid LGy e
c. Nt Guenr wpmid yGymIGUeT  d. oudGLer wBmID 1uyl GLesr
e. alewL G flwealsbenso

2. A man weighs 60 kg on earth, in moon, his weight will be
a.360kg ~ b.10 kg c.15kg d. 120 kg e. Answer not known
Qb Gl eTemL Luled 60 &.&l o eiengl. FhAHTelsd SieuTsHl 6lenl
a.360 &.&d b. 10 H& c 15 H& d 120 H& e alw GOxpfwaleoenso

3. Which of the following is not a necessary quality of a planet?
a. It should orbit around the sun
b. It should get a spherical shape
c. Itshould clear the neighbourhood around its orbit
d. Its density must be more than that of the sun
e. Answer not known
Ledteu(heueteuBmIen 1% GCHTeiid@EhdbaTer SIglilenl LRI 60607
a. Ganenzser @flwenend ampl euy CeuewiBLD
b. Gameiimer Gamen augemaut QUBKIHGS Gauawi(HLd
c. Gamemel Haig el LLUTOSHUIL uTSTOUTHLS6T g HIllens  BHoHSHulmebe
Gouemr(HLD.
d. Cameimefllenn oI THd @Gilwemer el oHs0TE HHE GouewiBLD.
e. alowL Gafwealedeneo

4. Oort cloud is located in the

a. Atmosphere of Pluto b. Photosphere of the sun
c. Region beyond Kuiper belt d. The asteroid belt
e. Answer not known
oaT” GLSMIFET 6IMIG SHTenT ILIBS et ?
a. Lepl CLrale eueriloewi 6088 60 b. @flweler gefdBsrenddeo
C. @UILILIT LD6WILVHHMBE DILILITED d. FApGasme eI 605360
e. alenL Oz flwalsvemev
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5. Which of the following is not an example of projectile motion?
a. An object dropped from window of a moving train
b. A bullet fired from a riffle c. A ball thrown in any direction
d. None of the above e. Answer not known
LesteumeuateuBmie 61gl a1 OUT(HeT BuISESHHe TBSHBHISSTL(H Dl606v?
a. 6w Aruieder meiereded(rbad SH6 GuTLULGL CUTHET.
b. aniunsauledmba CauelCuimpid & emi(h
C. gCapamid qp Hewauled afdf e¥WILGB LbHS
d. GuBampPlul e1gia|fls0men
e. alemL Gz fluwailsvenso

6. Impulseisa quantity and its unit is
a. Scalar, N b. Scalar, Ns c. Vector, N
d. Vector, Ns e. Answer not known
HSHIHTES @ ___ DTG, DHB DG .
a. eBseuir, N b. e08seviT, Ns c. QeusLi, N
d. GeusLit, Ns e. alewL  OxpMwaledensv
7. Which of the following is a pseudo force (or) fictitious force?
a. Centrifugal force b. Centripetal force c. Frictional force
d. Gravitational force e. Answer not known
LeteumeuaieuBmled o1gl GuTewImer Slevevdl Oumuiwimer aleng?
a. wwwealendg allend b. »wowBETEG alens C. 2 gmuie] el
d. yalufiiy elena e. alwL GsMwealsdemev

8.  ®6LeUMDAITET 6TGILIT6 EUIeOL|eNL LI
[HELEVTMSIET [BI6IT3  FHI6N6UT.
a. BmauTdh@GID b. cwaird@b C. [BTELAUTEHGLD
d. ;aus @i e. el O flwalsoenev
ilvaazhvaan enpaan iyalputaiya
nallaatrin nindra thuNai
a. iruvarkum b. moovarkum c. nalvarkum
d. ivarkum e. answer not known

9.  Match the following:

Shapes Centre of Mass

A. Sphere - 1. Meeting of body diagonals

B. Square - 2. At the centre point

C. Cuboid - 3. Outside the body

D. Ring - 4. Meeting point of diagonals
A B C D

a. 2 4 1 3

b. 2 1 4 3

c 3 1 4 2

d 3 4 1 2

e. Answer not known
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QUTHHSHIS.

allgeILD Hlemm  eMLOWILD

A. Gamenid 1. snuIBasm (B cpemevall LD FhdHd@ el

B. sgiyb 2. enLOWILl Lj6iTer

C. ma1 QF6lousmld 3. Qummend@ OeueliGu

D. suewermuid 4. clpemeuaill L MIGH6T FhAHb@SHID Leier
A B C D

a 2 4 1 3

b. 2 1 4 3

C. 3 1 4 2

d. 3 4 1 2

e. alenL Oz flwalsvemnso

10.  Match the following:

A. Gravitational force 1. Joule

B. Gravitational field 2. Jkg1

C. Gravitational Potential 3. Newton

D. Gravitational Potential Energy 4.m/s?
A B C D

a. 3 4 1 2

b. 3 4 2 1

C. 1 2 3 4

d 3 1 2 4

e. Answer not known

QUT(HSHHIB

A. riidwed aleng 1. 23760

B. s Leod 2. Jkg!

C. miy seiteflensy  SLBB6Y 3. Blugl Leir

D. miiy Hlened  ybBmed 4. m/s?
A B C D

a 3 4 1 2

b. 3 4 2 1

C. 1 2 3 4

d. 3 1 2 4

e. alewL Oxflwealsvenso

11. Law of length for the time period of a simple pendulum is,
a. T a\/I_ b. T 05i c. T al— d T aliz e. Answer not known

NI

Hafl eagFede DeMeVCHIHMBL CUTBISHS HeTHHler allg.
1
a. Tax/l_ b. Tozi c. T al— d Ta= e. alewL Gafuialsdemsv

] ) j
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12.  Workdone is zero when,
a. Force is zero
b. Displacement is zero
c. Force and displacement are perpendicular
d. All the above
e. Answer not known
eiIBurgl G’ L Geauenev &HIHWITEGHLD?
alleng sPWImGLBLITSHI
@ LCuwiTFd  aflwm@bCurg
alewgwb L UCUWTFSUD CFRIGHITS 2 6TenCUTSHI
GBampiul SIMSIHHID
alenL  Oxflwailsvensv

oo oe

13.  Match the following:

A.lerg 1. 4.186]
B. 1 electron volt 2.1.6 x1019]
C. 1 calorie 3.3.6 x100]
D. 1 kwh 4.107]
A B C D
a 1 2 4 3
b 4 2 1 3
C 3 2 4 1
d. 3 4 2 1
e. Answer not known
QUT(HSHHIS.
A. 1 qités 1. 4.186 ]
B. 1 etevssL ymeir Geumevl’ 2. 1.6 x1019]
C. 1 sGsor 3.36 x 10° ]
D. 1 #Gsvmeumt’”  oeud 4. 107 ]
A B C D
a 1 2 4 3
b. 4 2 1 3
C. 3 2 4 1
d 3 4 2 1
e. alemL G flwailsenso

14. The amount of heat energy required to raise the temperature of 1kg of a
substance by 1 kelvin (or) 1°C is,
a. Heat capacity b. Specific Heat Capacity c. Latent Heat
d. Specific latent heat e. Answer not known
Qm FHCeuralymbd mevpwemLw  Gummefer OeuliLBlensvenw! @ OBV  DI6L6VSI
1°C 2 _wiss Capmeuluipld GeuliubHer Sieney,
a. QauliL gBUSHmest b. a6l gBLSH M6t C. 2_6li@hens Geuliub
d. e o _sepens Geutib e, el Gafuiaisdemsd
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15.

16.

17.

Consider the following:

Assertion (A): Water is used as a coolant in power stations and reactors

Reason (R): Water has the highest value of specific heat capacity

a. (A) alone is correct (R) is incorrect

b. (A) and (R) are correct and (R) is the correct explanation of (A)

c. (A)and (R) are incorrect

d. (A)and (R) are correct but (R) is not the correct explanation of (A)

e. Answer not known

UaTeuheueiouBens SpUish.

saBul (A): et o BuSHE  HMeOWmIGET LBBID SIEDIGEEH 2605660
pllevens @Gefapliouimteg LWTLHSHSHISGBTD

aryenid (R): piler seGeulin gBUSHBeT DIHBLLF WHIHUL QUBBIETETSI.

a. (A w e i (R) seuml

b. (A) wip (R) @rewiio aM Gweubd (R), (A) alBg afiwmer alendsomE@Lb.

c. (A) wppd (R) BB seupl

d. (A) opgw (R) @yewign g gemed (R), (A) alBg gflwmer elendsineen

®eveumpld CLBOBETENI(H 6UTLDSIETBEU6T WIT(HSHG 6N 60TUITEOT6LGOTTEUT6H

a. gImalwTsei b. aupfweuieseit C. QUHEUBLINISS SHeTLT6OMbHI
d. Bwer SimensHHID e. el Gapfwalsoenso

Person lives with domestic virtue will be a support to,

a. saints b. poor c. helpless people
d. All of these e. Answer not known

Match the following;:

A. Isothermal Process 1. Food cooked in open vessel
B. Adiabatic Process 2. Water heated at boiling point
C. Isochoric Process 3. Warm air forming a cloud

D. Isobaric Process 4. Food cooked in closed vessel

A B C D
a. 2 3 4 1
b. 2 4 1 3
C. 3 2 1 4
d. 3 4 1 2
e. Answer not known
QUTHSHHIS.
A. GeuliuBeney LOTBT HlbLDe) 1. &mbsd LUTHHTHH60 FLDEHH60
B. Qauius ufliormpiisoeor msipey 2. SHGUT6N1 60 &b GargBlamevuied
CeulILlILIBh SSHIH60
C. upLosst LOTET HHD6] 3. GLTel SMTHBB Wwenp Gslons TBIeUg
D. siwssd wrsr Blabey 4. apLUUl L UTHHTHHL FNLDSHFHED
A B C D
a 2 3 4 1
b 2 4 1 3
C 3 2 1 4
d 3 4 1 2
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e. alemL Gz flwailsvenso
18.  The device used to measure the rate of flow of the incompressible fluid flowing

through a pipe

a. Anemometer b. Hygrometer c. Accelerometer

d. Venturimeter e. Answer not known

Qm Gwtular aufCw CFIb SIWHE Guleond BT UTLD aiddHmd Slenall
o Hab SHmal,

a. e GombLLiT b. emamaGymusi LT C. (pBEHHLOTe

d. Geuaranfliomes e. alewL GaMuwealsvemev

19. The minimum distance from a sound reflecting wall to hear an echo at 20°C is,

a.17.2m b.34.4 m c.37.2m
d.20.4 m e. Answer not known
20°C uiled a1QImel Gl &, 61HQITelS@GL LTy Slenoul Geuemigul GBhS UL FH
O Tem606Y.
a.17.2m b.34.4 m c.37.2m
d.20.4 m e. alewL OxMwaletenso
20. Identify the correctly matched pairs among the following.
L. First equation of motion - v =u + at
IL. Second equation of motion - s = at + %2 ut?
II.  Third equation of motion - u? = v2 + 2as
a.land II only b. I only c.], I and III
d. I only e. Answer not known
Weteuheuaieupmlev gflwmen Sememrenuw! GHTHOSHE.
L. (WHL BusHsSF Fweumd -v =u + at
II. @UeRILTD QusbsdF Fweaun® — s = at + Y2 ut?
I1I. SIS BUISHF Fwoaumh - u?=v2+ 2as
a. [ wpm 11 b. II ot Bib C. SIMDHSID
d. It Gib e. alewL Gafuwalsdenso
21.  One atmospheric pressure is equal to
a. 1.013 bar b.1.013 x 10¢ Pa c.1Pa
d. None of above e. Answer not known
Qb euelDeRIL 6V DIPHBHLD = .
a. 1.013 bar b. 1.013 x 10¢ Pa c.1Pa

d. Gumampiw egieficvensy €. aleml Gafuialsvemsv

22.  The device used to convert dc into ac
a. Electric motor b. Battery c. Inverter

d. Rectifier e. Answer not known

Crigens WG LHews wIiBHmF L0GaITL LTS 1OTBB  LWTLUBLD  S(hHeiu e
@uuiT  eT6dTEDT?

a. 106G L b. ferseold c. Gpywmms

d. Hmpsa e. alewL Gafwalsdenso
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23.  To see your entire body in a mirror, the mirror should be atleast,

a. Half your height b. ¥4 th of your height c. % th of your height

d. Same as your height  e. Answer not known

SLYH6MEL © L 60 (LPIPeuGHID LMTeHs CouemiBOLSIBTD SL9H6T _ Sjenaled B(Hbd
Geuemr(HLd?

a. Bog 2 WISHHed LT b. pwg o wrsHded Vi ukig

C. pIDGH o _WFHHed Y4 LMIG d. pwa 2 wrb

e. alemL Gz flwailsvenso

24. 9peerenl UL G%H Se0auTDdHmd ). .FHiD

Beveuruiledt [HesT).

a. BeTeFTev6s b. UBsiiiug) C. auflowiehde0

d. Geugen e. alenLOxfNwealsoenev

aRanenp pattadhae ilvaazhkkai agdhum

thillaayin nandru

a. insolan b. piranpazhippa c. vazhiyenjil
d. veguli e. Answer not known

25.  Match the following

A. Plane mirror 1. Astronomical Telescope
B. Convex mirror 2. Lateral Inversion
C. Concave mirror 3. Mirage
D. Refraction 4. Traffic Safety
A B C D
a. 2 4 1 3
b. 4 2 1 3
C. 2 3 4 1
d. 4 2 3 1
e. Answer not known
QUTHSHHIH:
A. swgen o6t 1. euneilwed GHTemevBHTaHS
B. @al a9 2. @Leuev LOTMBELD
C. a0 s 3. STee0 B
D. @af afevsed 4. CUTeHGUTHSH LTHISTLIL
A B C D
a. 2 4 1 3
b. 4 2 1 3
C. 2 3 4 1
d 4 2 3 1
e. alenL Oz flwalsvemso
26.  Who is regarded as the father of fibre optics?
a. Narinder Kapany b. C.V. Raman c. S. Pancharatnam
d. ].C. Bose e. Answer not known
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@ @efluilweler HHewd 6leT SIEPSHSLILIBLICT WImT?
a. piibsy SuTel b. CV. gmwes C.S. uEhFTGHeID
d.J.C. Gumerd e. alowL GaMuwealsvemev

27.  Venus is the Hottest Planet. Why?

It rotates in the direction of East to West
It has the longest rotation period

Its dense atmosphere traps heat

It is the nearest planet from the sun

. Answer not known
aueierl deayd GeuliLiorer Bsmell L@ 6J6oT?

OS0 o0 TP

a. s mhal CLBsTESF SFHBBISBSA
b. saiemen 1@ &BY Csmeien DIHBULF BT HM6T THHH CBTETHBSI
C. SILJSHFHWmer euTujwenieod GaILsHmed HHIMmeudbdl OHT6TH BRI
d. e&flumisE e SmHFe 2 6Teng
e. alewL OFflwaisdensv
28.  Inrefrigerators, transfer of heat is in the form of,
a. Conduction b. Convection c. Radiation
d. Insulation e. Answer not known
Gefitgnsean GuLiguied gBuB Oeuli UMTIBMBLD,
a. Oeuliusg &L GHH60 b. Geuliug gFevesrd C. Geuliusg sgiTaiss
d. Qeuliud sy e. alew Oafuweaisdensv
29.  Match the following
Components Uses
A. Fuel 1. Water, air and Helium
B. Moderator 2. Boron and cadmium
C. Control rod 3. Graphite and Heavy water
D. Coolant 4. Uranium
A B C D
a. 4 2 3 1
b. 4 3 2 1
C. 4 1 2 3
d. 4 3 1 2
e. Answer not known
QUTHSHHIS.
DIEMISH(hH 2 6M6VLITHMISHET LwieTUBLD  QLIm(heiT
A. erflQum(mer 1. BT,&MBB WBBID anfelluib
B. sewfliumesr 2. Gumymest OBE@ID ST LOUID
C. s BUUBSHSHID B 3. Sgm.eoul IBHBID HETBT
D. gefitailiuimer 4. wCreflwid
A B C D
a. 4 2 3 1
b. 4 3 2 1
C. 4 1 2 3
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d. 4 3 1 2 e. alowL GaMuwelsdemsv
30. Joule’s law of heating is

a. H= VRt b. H= V2Rt c. H=1IRt
d. H=I2Rt e. Answer not known

o360 Oeulil &g ereTLIGI

a. H= VRt b. H= V2Rt c. H=1IRt
d. H=I2Rt e. alewL GaMuwealsvemev

31. When the car engine is started with headlights turned on, they sometimes
become dim. This is due to
Internal resistance of car battery
Knocking of the car engine
Power outage by the battery
Insufficient torque by the engine
Answer not known
mfled sy ellendg eafluyb  Heweouled eEhFlemest QusGLCUTSHI, (Pl
endbPler Gumedey Fev CrImisefled GHemBUWD. DHMBE STJ6wID
ST OSIBHEVHHE  DIBHLO6THML
ST 6lehFeNesl 2_6TGlaIgLIL]
&7 eisevsHHler eTbleul (B
elehFlenelt OFHTL S SHl(HLILRINFLI LBBTHEHMmB
alenL  Ggflwalsdenev

go a0 op

®an oLy

32. BSHETEmID FBpIseneTr Ffwrareupammpd CaHiThosHBHHLD.

1. 2 edled eump Geuewngul BTOBHBIUTED HlETBI  GUTLDSBIBEUT,  EUTEDIEVSH S 60
o _eiten G uler (Lpedmuied emeudH g &S SLILIBET6T.

2. 9B aaip ABUisSSHSF CFTeLeOILLL S Be0aTDEMS DLEGLD

3. Umpeny OppslluGsadsh STaid OppsiHB@n  SevaumpGa  HeausHaibd  euedlento
2 ML UG

a.2,3 b.1,3 c.1,2 d1,23 e. el Oxflwalsdenev

Choose the correct statement

1. He who on earth has lived in the conjugal state as he should live, will be
placed among the Gods who dwell in heaven

2. The marriage state is truly called virtue

3. The householder who, not swerving from virtue, helps the ascetic in his

way, endures more than those who endure penance

a.2,3 b.1,3 c.1,2 d1,23 e. Answer not known
33.  Match the following
A. Microwaves 1. To detect cracks
B. UV radiation 2. Cooking
C. X -rays 3. Treatment of cancer
D. Gamma rays 4. Sterilize surgical instruments
A B

anoe
o W N
OJ)—\UJ»PU

2 1
2 1
2 3
2 4
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e. Answer not known
LevTeu(heuaTeuBenmLl  QILIT(HSHSHIH:

A. wsCIT SIMEVSHEIT 1. Geuglisenend &euorL_nslul
B. UV sglitsei 2. Fedowled GFuiul
C.x— sdnser 3. uBBIGHTUI HBFema
D. smor sdlitsen 4. opewer HIFwFd HmHalsefedmbal GpTuIs
S(mOBM6N HHb
A B C D
a. 2 1 3 4
b. 2 1 4 3
c 2 3 4 1
d 2 4 1 3

e. alenL Oz flwalsvemnso

34. Calculate the power of the lens of spectacles necessary to rectify the defect of
nearsightedness for a person who could see clearly only up to 2 m.
a. 0.2 diopter b. - 0.2 diopter c. 0.5 diopter
d. - 0.5 diopter e. Answer not known
SLLUuniTened GenpuUTBenLwl BUT eheugmed 2m GgpmensvaiB@en Ll GG Gnefeuns
uniTébae (U, Sieuflel GHemBUTL ML HoHEGHeSBETR CleVTIFIH SHBeN6Td HT6NISb.
a. 0.2 Lwmif b.-0.2 Lwmif c.0.5 rwmiir
d.-0.5 Lwmini e. alewL O fNuwalsenew

35.  The chain reaction in an atom bomb is
a. Controlled nuclear fission b. Uncontrolled nuclear fission
c. Controlled nuclear fusion d. Uncontrolled nuclear fusion
e. Answer not known
SIEDIG 6NN gBLBLD OFHTLTallenet

a. &L BLUTLI9eI6TeN DiemIdbBMhHL1 L1616
b. & GUUTLBB SeEdHmH Lerme
C. SLBUTLIQEVIGTET  SIgIbhS(H Seneuniey
d. s’ GUUTLBB SIEIGEEH Benenie)
e. alemL G flwailsenso
36.  The blackhole at the center of the Milky Way galaxy is
a. Centaurus A b. Messier 87 c. Sagittarius A*
d. Cygnus X-1 e. Answer not known
UTeLeULISHEHTeMET MOUIGHH60 266N H(HbHJHIeneT,
a. QgaiLmyerd A b. Gudwir 87 c. @ Lmflwed  A*
d. déered X-1 e. alenL Gafwealsdemso
37.  Match the following:
Salt Molecular Formula
A. Washing soda 1. NaHCO3
B. Baking soda 2. CaOCl;
C. Bleaching Powder 3. CaSos. YoaHO
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D. Plaster of Paris 4. Nap,COs

A B C D
a. 1 2 4 3
b. 4 1 2 3
C. 4 2 3 1
d. 1 4 3 2
e. Answer not known
QUTHHSHIH:
o Iy CLPEVS GnmIeUTUILILIT(H
A. geoameu GamLm 1. NaHCO3
B. genwowied Gamm 2. CaOCl,
C. geoemeud el 3. CaSOq. 2HO
D. umfled gmbal 4. NaxCos
A B C D
a. 1 2 4 3
b. 4 1 2 3
C. 4 2 3 1
d. 1 4 3 2
e. alewL Oaflwealsvenso
38.  17CI3% and 17CI%7 are
a. Isotope b. Isobars c. Isotones
d. None of these e. Answer not known

17C135 @b 17C17  syduiene

a. :BanGLiysse b. e;Gsmuniteseit c. xBanGLmamel
d. GuBsmplu aged Bevenev e. alewL OxMwaledenso
39.  Match the following

A. s - Block 1. Transition elements

B. p - Block 2. Representative elements

C. d - Block 3. Alkali metals

D. f - Block 4. Inner transition elements
A B C D

a. 3 4 1 2

b. 1 4 3 2

C. 1 2 3 4

d. 3 2 1 4

e. Answer not known
LetTeu(heuesTeuBenmLl  OILIM(HSHSHIsH:

A.s — Ganed
B.p - Qz1ed
C.d - Qz1ed
D.f — Qz1ed
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HPB il efoms
&My 2 GeuTdmIdH6N

2 61 DL HEN6VSH HeLOmIB6IT
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WR R Wy
NN
_ W W = A
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a
b.
C.
d.
e. alemL Oz flwailsvenso

40.  @eveumpailed ereueuTml GUITHeT UL Gouewi(BLD 6Tl S(HEUGTEHEUT FnmISMTT?
ufsad Dlehd mLL Geauemr(HLd

auedlujemLwieuedt eupllwleuadl LO(HHEH Hereuedwimed L Geuemi(BLD
HeLInTHHTT euembISCHTALD @gbhg L GeuswiBld

. SRIFBsowTHeT BUTed GFeLaIF FHTeRILeD cpevld FL L Galewt(BLd

. allenL OFflwealsdenev

According to Thiruvalluvar, how to make money in domestic life?

Fear to earn with blame and sin

Powerful people to get from poor people

The good ones should beg from the rich

Drain wealth like the British
Answer not known

P o T

o0 TR

41.  What is amalgam?
a. More than two metals alloyed together
b. Metals mixed with non - metals
c. Non- metal alloyed with mercury
d. Metal alloyed with mercury
e. Answer not known
B FHHE0N6!  GTGIIBTED 616016017
a. QreieGw GuBulL o Georsmiseier Heveme
b. 9Bnami®eT 2 GeUTHmIBEHL 6T HEUGBBLILL L  HeVm6I
C. oICeuTEMIBEHL BT UTHIFID H60bHSH SH606N6N
d. o GeurasRIBEDHLET LUTHIFID HevhDH 2 BevTddoHe06mel
e. alewL G flwailsvenso

42.  Which of the following statements is/ are correct?

L. When a neutral atom loses an electron, it is called anion

IL. When a neutral atom gains a proton, it is called cation.

a. I only b. II only c. BothIand II

d. Neither I nor II e. Answer not known

Hetaumd gaBupiseied 61kl / elemeu aflwimeig / eveu?

L. GTeLEL JTeneT BIPHGID Dlaml, 6IHTO Djulel eTeTBenSHSLILIBLD
II. UGrmlLmemenr M@ Sigwl, CpiTdlent ojuiel eTamBenpHBILBLD.
a.l w @G b. II o @b

c. ] wppid II d. GuBseni ByeuiBLisoeney

e. alewL G fluwalsvenso

12 | Page 044-24339436, 42867555, 9840226187



43.  Alkaline earth metals possess

a. High ionisation enthalpies b. Low ionisation enthalpies

c. High melting and boiling points d. Zero ionisation enthalpies

e. Answer not known

&M 16w 2 GeuTHmIGb6iT & OuBB(HBGLD

a. 9IHB DWeTWTHSGID BB6O b. GmmBhs SWIUTEGID DBB6eD

C. 98 2 HGHme BmID Cardmen d. sl Suelwurs@d SyBBed
e. alemL Gz flwailsenso

44.  According to Arrhenius theory, a substance which furnishes H3O* ions in
aqueous solution is,

a. Acid b. Alkali c. Base

d. Salt e. Answer not known

sifaeflwed ampmitiug, Biled semyud Gurgd H3O oweismend smeug
a. oJfeold b. erflsmyid C. &MJLD

d. o 1 e. alewL OxMwaledenso

45.  Match the following

A. Monobasic acid 1. KOH

B. Tribasic acid 2. Ca(OH)2

C. Strong base 3. CHs COOH

D. Weak base 4. H3POq
A B C D

a. 4 3 2 1

b. 3 4 2 1

C. 4 3 1 2

d. 3 4 1 2

e. Answer not known

LeTeu(heuesTeuBenmLl  OILIM(HSHSHISH:

A. @BoBs SMIHIHIA DIO6VID 1. KOH

B. pemws snysHaien oufeop 2. Ca(OH):2

C. auedemio 1@ &SMyd 3. CH; COOH

D. auedemo @emmbsd STyD 4. H3POq4
A B C d

a. 4 3 2 1

b. 3 4 2 1

C. 4 3 1 2

d. 3 4 1 2

e. alenL Oz flwalsvemso

46.  Consider the following
Assertion (A) : Copper sulphate crystal is blue in colour
Reason (R) : It has five molecules of water for each molecule of copper sulphate
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(A) alone is correct (R) are incorrect

Both (A) and (R) are correct and (R) is the correct explanation of (A)

Both (A) and (R) are incorrect

Both (A) and (R) are correct but (R) is not the correct explanation of (A)

e. Answer not known

LevTau(hHeuaTauiBens LIS

aBm (A) : sTiuT FOBUL LS B HBLTE SHSEGLD

smrenid (R) @ oifled @b amium g606UL  (pevdamBiBG 3baH BT  (LPevdanBIs6iT
©_siTenenr.

a. (A) wew sf (R) seum

b. (A) wppw (R) Srewiw &M Gweud (R) (A) el sflwmer alendaor@Lb.

c. (A) wppd (R) Syewhn seuml
d
e

S

. (A) wppw (R) Grewib oMl spemmed (R), (A) el sflwmer alendsiosien
alemL  OFfwailsveney

47.  Rusting of iron is an example of,
a. Combustion reaction b. Double displacement reaction
c. Single displacement reaction d. Decomposition reaction
e. Answer not known
By SIBLLIYSSH60,
a. efldped alleneot b. @y enL @LUOUWITFS aflenen
C. BB BLUCUWTES alenenr d. fewze; alewer
e. allewL G flwealebenso

43.  GIILIGNWILISBET 2 ML UWITEN6N [H606D GUTLDGHMBE HIeNewT SH(HeUaTEHEUT SUIbLSIBTT?
a. eI SN LI OLIT(HET 6UeTSHHHSHSH HHS UTDEHMPB [HL HHISMeU6IT
b. sa1 seavaugient W aIHLTEISHBEG Gosd OFea GFUILIAIGT.
C. asLal GuBmTeugdl LIBT GFHDUQWITES S DUT UTDEHMS GUTLDLIGGT.
d. @mei gzIdevemev
e. alewL g flwalsvenso
According to Thiruvalluvar, which characteristics defines a good life partner?

a. Can spend within the means of her husband, is a help in the domestic life
b. Who one spends more than her husband's income
c. Borrowers live a life of luxury beyond others
d. None of these
e. Answer not known
49. The chemical present in Onion which causes irritation and tears in eyes when
cutis,
a. Propanethial s - oxide b. Thiophene s - oxide c. Lenthionine
d. Thiobenzo phenon e. Answer not known

CoumsTwHMS  BBISSLEUTH  Hewideled  aflFFa a1  HewieniT  aUHAUSBE
syewiomer GeugliGILIMT(hHeiT

a. yGrmiBuensalwmed s — ibHemen® b. sCumisr s — siHmerv(H

C. QeveirdGuimentesr d. s8wr QueBsr LiGermest

e. alenL Oz flwalsvemnso
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50.  Find the incorrect statement

Phenol is a carbolic acid with the molecular formula CsHsOH
Concentrated phenol is used as a disinfectant

Phenol can be used as surgical antiseptic

Natural adhesives are made from starch

. Answer not known

SHOUMBTE FnBenBdh HewIL 13&:

a. Uamed eaiug CeHsOH eteiianid  cpevdbdnm  eumuitiun®  Osmewi  smiumeld
SiLilevld

SILT Uemmed &lmpoprdlefwums’l uwetuGSHSLILGS MBS

Ueotme0, Simiemen FdHFemauiled Sl prFlefwrseand o LGWTSLILGH MBS
BuBemad L BUOUT(HeTH6T, erOLTEFHeNHhHEH TBHBILGHMBSI.

alemL  Oxfwailsvensv

o ap T

o an o

51.  Alkenes are represented by the general formula,
a. CoHon+2 b. CnHon c. ChHonn
d. CoH2n+10 e. Answer not known
BDI60DHEITH6IT eTem QUM eumUIILTL I9enend  O\BTewT(H6ITemenT.
a. CoHon+2 b. ChHzn c. ChHonn
d. CaHonn1O e. alowL Gafwalsdenso

52. Reduction is the chemical reaction which involves
I. Addition of Oxygen I1. Addition of hydrogen

I1II. Loss of electron IV. Gain of electron
a. I (or) III b. I (or) IV c. IT (or) I1I
d. II (or) IV e. Answer not known

pbda b Couglaleneaiuimeigi,
[. gpsmimemen Caidmed 1. emaml ymenenr GFidgHe0
III. eevaLl grewen BwsHHeo V. e160sbL JTenet 6Mimed

a. I sevevg 111 b.I seve0s IV c. IT o606z 111
d. IT &jeve0m IV e. alewL Gafuwealsvemev

53.  Bordeaux mixture is
a. CuSOyq + Ca(OH)2 b. CuSO4 + CaClz c. ZnSO4 + Ca(OH)2
d. ZnSO4 + CaClx e. Answer not known
GuTTLTHe Hevenal 6l
a. CuSO4 + Ca(OH). b. CuSOs + CaClz c. ZnSO4 + Ca(OH)2
d. ZnSO4 + CaCl2 e. alewL GaMuwealsvemev

54.  Which of the following is an example for Aestivation animals?
a. Turtle b. Bats c. Snail
d. Lizard e. Answer not known
Leteu(meuaieuBmien 61gh CaTenL&men o méHd alevmGHHEnHE TBSHHHIT. B hGLW?
a. LML b. Geuereursd C. hHMSH
d. wedel e. alenL Gafwealsdemnso
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55.

56.

57.

58.

Consider the following statement

Assertion (A): Animal cells are generally smaller than plants cells
Reason (R): In animal cells, vacuoles are generally smaller than plant cell.
Both A and R correct and R is the correct explanation of A

Both A and R correct and R is not the correct explanation to A

A is true R is false

Both A and R are false

e. Answer not known

LeiTeu(hlD euTSHSLImIGSmen LUIH

aBm (A): ellevrE GFevsel QUTIUTE HTeuy OQasvsemen el HAplwig
smyenid (R): eflevnig Gaevseier mewi@LpEer STaugd OQFssemet el FHnflwig)
a. A oppib R gfl Gued R eeiug A elig sflwmer elendsongl.

b. A wppid R #f Goaid R eeiug A alig sflwmer alendsinsen

c. Aafl R sap

d. Auvpgid R seum

e. alowL Gafwealsdenso

an o

LedTeu(hHeuaTauBens LIS

app 1 (51) @ woerel BEHUIL 2L WEETTEITED  6UTDSEMBUTEd  E6060THSI
eTevTenT  @(HBHSBHI?
ampp 2 (S2) :  weenel BEBUMIL  BeVOTHeueTaNTed  euTpdesUiey LB

CF60aumIB6T BHHSTID EeVVTHHTHEM H(HBLILIBLD.
a.S1 saum e Sy &l
b. S1 M syemed Sy Heum
c.S1opmid S Brewipd &
d. S1 opmd S2 ByewiB Heuml
e. alemL Oz flwealsdenso
Consider the following statements
1. If the wife is virtuous, what is there that is not in life?
2. If she be without excellence, what does (he) possess?
a. 1 incorrect, 2 correct b. 1 correct, 2 incorrect
c. 1 and 2 are correct d. 1 and 2 are incorrect
e. Answer not known

Which of the following is called “Storage tanks” of the cell?

a. Vacuoles b. Golgi body c. Ribosomes

d. Peroxisomes e. Answer not known

Leteu(meueieuBmlen e1gl Gaevelledr “Galiiliyd HLMiG” aaiBl DIDWSHSLILGSBHI?
a. HIewTEHLODDH6IT b. Gamevens o _mili c. MBuT@amibaseiT

d. QugmsdGambaser e. alenL Gafwealsdemso

Currently Indian scientists at CDRI (Central Drug Research Institute -
Lucknow) have made a nano formulation from the Palak (Pala Spinach) to cure
which disease?

a. Gastric ulcer b. Osteoarthritis c. Diabetes mellitus

d. Epilepsy e. Answer not known
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59.

60.

61.

62.

6b®H GBTUISSTET LOHHH T LITeuHHMTUIeS(HHSH OHSHU  LOHHSH gg,urrm&&ﬂ TR

(CDRI — 608 BeurT) al6h(ehTedT oIt BTG ® _(HeUTSHDHH 6 CLPGULD
9 (ThaUTEEU|6ITETT60NT?
a. euuimmIiext b. el (WL SEGTSHID c. pfple Gpmul

d. srémas ewelly Gpmul e el GFHflwelsvensv

DOTS therapy is given to which disease?

a. Leprosy  b. Tuberculosis c. AIDS d. Anaemia e. Answer not known
DOTS fdgema ebs Cnmuishd lefdbsiiibGans?

a. OxTupGHTUl b. srg@mmul C. 6IUIL 61D

d. ®15656zTemns e. alewL GaMuwealsvemev

Which of the following diseases caused by the Varicella-Zoster virus?

a. Small pox b. Mumps c. Chickenpox d. Rubella e. Answer not known
Uetteupd Gpmulseme o1&k aumflogsveor GmmerOLT eveugamed gmuUBSBEHI?

a. Quflwibeno b. yl GHTenbenio C. dleireunbemio

d. epGU6veVT e. alenL Gafwealsvenso

Consider the following statement

Assertion (A): The heart beat is rapid in Anemic patient

Reason (R): The heart pumps more blood to make up for the lack of oxygen in
the Anemic patient’s blood

Both A and R correct and R is the correct explanation to A

Both A and R correct and R is not the correct explanation to A

A is false, R is true

Both A and R are false

e. Answer not known

Uateu@pld eUTSHSILImISMmeN SUIH

app (A): @155 Gamens Cprwrelseisr QWD Ceusons B HaEGLD.
smgenid  (R):  @rss  Comews  Geprwmeisellesr  QrdsdHdeeion b6

GoputlenL. gl zuwid  Gauswrias  HIHdH  DHSOTE  DIHDHHMD
CeoueNCWBBIB B!

a. A oppb R gfl Gueud R ereiug A alBg sflwmer elendsd @b
b. A wppi R #f Goaid R esug A aliBg sflwmer alerdsineen

c. A samp R &M

d. A oBpb R SrewiGi Heuml

e. alemL G flwailsenso

S

Consider the following statement

Assertion (A): As a general rule iron supplements should be given orally, not to
be injected.

Reason (R): If iron supplements should be injected, it leads to dangerous effect
such as pain and bleeding into the muscle.

a. Both A and R true and R is correct explanation of A

b. Both A and R true and R is not the correct explanation to A

c. Both A and R are false

d. Aistrue, R is false
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e. Answer not known

LeiTau(heuaTeuiBens LIS

app  (A):  Gurg  elHuleity, SGBLUFFSSH  WDHDSIBMET  euTuleufluires
o L Oameiteneund 2adl&ei cpevld OFeISHHHILTGHI.

snyenid  (R): @mbysFsss WHboHISmen oaflEe clpevld 6IBHBHISCBTEHILTE 66l
OBBID HMFHeH0 DIHHHBH e CUTEB DLISHHTET AleN6Te HM6NT GHLBHHBILD.

a. A oppib R gfl Gueud R eeiug A elig gflwmer elendsiongl.

b. A wppi R #f Goaid R eeiug A alig sflwmer alendsinseo

c. A uppid R @rewipd Heum)

d. A s R seaum

e. alwL G flwailsenso

63.  Consider the following statement
Assertion (A): Unripe fruits change its colour during ripening
Reason (R): As fruits ripen chloroplasts change to chromoplasts
a. Both A and R true and R is correct explanation of A
b. Both A and R true and R is not the correct explanation to A
c. Aistrue and R s false
d. Both A and R are false
e. Answer not known
LeTeu(heueaTeuiBens  SLUIs
apm (A): LWEsTS SaldeT LWSHESLOUTSH DIHIeNL U BB  LoTIEase.
ST GOILD (R): LILDIBISH 61T LI(D&GLDBLITS &GenmGymLlenmmerdl Hebelt
&CymGLomLiemmerdL (B&6NTa  LOT3185 631360l
a. A oppib R gfl Goeud R eeiug A eipe gflwmer elendsiongl.
b. A wppw R Ff Gooib R eeugs A alibg sflwmer alerdsineen
c. A af oBpd R seaum
d. A wBpb R SrewiGd Heusi
e. alemL Gaflwealsdenso

64.  @eOaUTPEHMBUT60 aSIMID 2 _mFHHBene  AHEBHL  GUBBTEL,
QuemtenemialL_1 QU(HemLLUjEmL Wened Ceuml eTeiie B(hHdba 66t ?
a. GFmeveUGTENLD b. &mu C. GBBHIBIYHE0
d. wiguierento e. alenL O fuwalsvenew
What is more excellent than a wife, if she possess the stability of ?
a. power of speech b. chastity c. The correction of faults

d. Unsluggishness e. Answer not known

65.  If the virus is found outside the cell (extracellular) it is known as
a. Virions b. prions c. viroids
d. Freons e. Answer not known
mauTeavse  Ggeveus@  OeuelBw  smewiL@Cuwnemed  (extracellular) sjemeu
61Tl DIMLPSHSHLILIB S w160t ?
a. elflwmeiteseit b. flwreseseit C. MEUITUIBS6I
d. Wfwresser e. alenL OFfwalsdensv
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66. Match the following:

List -1 List - II

A. Diplococcus 1. Rod shape

B. Streptococcus 2. Chain form

C. Staphylococcus 3. Pair form

D. Bacilli 4. Bunche form
A B C D

a. 4 2 1 3

b. 3 2 4 1

C. 3 4 2 1

d. 2 3 4 1

e. Answer not known

QUT(HSHHIS:
ugd — I ugs -11

A. lBenTaTa:derd 1. Gamed aUIgaILD

B. a0 OyriBLTamdHer0 2. gmded algallDd

C. aroemL enLIBe0TaBTa:&6r0 3. @enewl AIIQAID

D. Gudlevemnev 4. QBTHSH 6UIQaID
A B C D

a 4 2 1 3

b. 3 2 4 1

C. 3 4 2 1

d. 2 3 4 1

e. alemL_Gaflwealesdenso

67.  Consider the following statement about Amitosis
1. It is the simplest mode of cell division
2. It occurs in unicellular animals
3. Karyokinesis occurs first
4. Cytokinesis occurs finaly
a.1,2,3, 4 correct b. 1, 2 correct 3, 4 incorrect c. 1, 2, 3, 4
incorrect

d. 2, 4 correct 1, 3 incorrect e. Answer not known

geml Lrdlerd umps Leeumld eumdbdSwmisamend SHHHeL OBl
1. gemwl Lrdled eaiud @h eTami(penB CFed LIGLLTEGLD

2. B3 @ GF60 alevrigHderied HaLS B

3. Waedev CaflGwmenserdlerd HewL LIS MBS

4. @pFuns o CLTendad ey HenL CLBISBSH

a.1,2,3,4 s b.1,2 af 3,4 gfwevev c. 1,2, 3, 4 sflwevev
d.2,4 s 1,3 sfwede e. alenL O MNuwalsvenew

68.  Consider the following statements
Assertion (A): Mitosis is also called as "Equational division".
Reason (R) : During Mitosis each daughter cell having the same amount of
DNA
same number of chromosomes and genes as the parent cells.
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a. Both (A) and (R) are correct and (R) is the correct explanation to (A)

b. Both (A) and (R) are correct, and (R) is not the correct explanation to (A)

c. (A) is True (R) is False

d. (A) is False (R) is True

e. Answer not known

LeTeU(BHLD UTHBWMIBmeNTS SH([HHH60 BTN

aaBml (A): eowlLTded @b FOUGLL 66BN SIPSEILBS MBS

srgewid  (R): enwlLrdled uglnled o maun@h @aleurm GFul GFeeid @Gy
S|6TT6 ML DNA o I &(W, 6] 6T6u0T 60011 b6 &b UL Tl LT GUT oS 6ot LoD
&BymGonGambsenend O&mTewi(h HTUI GFsvdaied 2 6ienigl BGuTevBeu SiEMLOHG 66T
a. (A) wppw (R) sl Gwed (R), (A)se sflwmer alendsasid

b. (A) v (R) &l syemmed (R), (A) &@ sfluner allendsd 16060

c. (A) sfl spemmed (R) seum

d. (A) seup syemmed (R) &

e. alenL G flwealsdenso

69.  Match the following:

List I List II

A. Interphase 1. Division of nucleus

B. Karyokinesis 2. Nucleolus disappear

C. Prophase 3. Resting phase

D. Cytokinesis 4. Division of Cytoplasm
A B C D

a. 2 1 4 3

b. 4 1 2 3

C. 4 2 1 3

d 3 1 2 4

e. Answer not known

CUIT(HSHSI:

ugd I ugg 11

A. BoLBlenev 1. 2 U's@m usLiy

B. GafGwrensedlerd 2. 2 LU a@moenl mBHBal

C. yGym Bemev 3. @uiey Hlenev

D. sl GLrenseardlerd 4. gl GLmienms LG
A B C D

a. 2 1 4 3

b. 4 1 2 3

C. 4 2 1 3

d 3 1 2 4

e. alwL g flwalsvenso

70.  Consider the following statements about mitosis.
1. Production of diploid daughter cells
2. occurs in reproductive cells
3. Consists of single division
4. repair of damaged and wounded tissues
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a.1, 2,3, 4 correct b. 1, 4 correct 2, 3 incorrect
c. 1, 3,4 correct 2 incorrect d. 1, 2 4 correct 3 incorrect

e. Answer not known

el Lrdlerd upPiw LNeeu(bD aUTHHIRISm6N H(hHHH0 OHT6IT.
Amow Csui GFe0dmen o (HeUTHGSH B

2. BanFOFLH6MeL MBS MBS

3. @ uGLlemU WL B CsTesiL gl

4. UTHUUMLHS BBID STWOMLHFH CFeoHemen LGNS MBS
a

C

e

[

.1,2,3,4 af b.1,4 &M 2,3 sfuwedev
.1,3,4 a7 2 sfluwedev d.1,2,4 aM 3 sMwedev
. alewL g fluwalsvenso

71.  Find the correct statements about Photosynthesis
1. Photosynthesis means “building up with the help of light.
2. The light energy is converted into chemical energy.
3. The end product of photosynthesis is glucose.
4. Plants take in Oz for photosynthesis and take in CO: for cellular respiration.
a. 1, 2 correct 3, 4 incorrect b.1, 2, 3 correct 4 incorrect
c.1,2,3,4 correct d. 1, 3, 4 correct 2 incorrect
e. Answer not known
ef&FCaydma upPw gllwmer euTdSlwnismen &HeaniBLIgSSaLD
1. @al&Gsisemas eaip OCameddsd “geflulear o galuimed o (HeuTdsULBHe0”
eTaiTLIZl  QUM(HEIT.

2. @ppasdFHulsd @afl umBmed Gougl SuBBeuTdl WIHBBLULGS GBS
3. @afl&Caismaulear @mILH allenenGLTmHeT & eHaHCaHmerd.

4. gragmser eqefFCajsmauler Gurwwad O2 el aBSHSHSOETAHBH  CF6d
aaurgdhder Qumupgd CO2 e aBHHIGOBTATSBS).

a. 1, 2 gf 3, 4 sam b. 1, 2, 3 gf 4 sam

c. 1, 2, 3, 4 & d. 1, 3, 4 af 2 sam

e. alewL O flwalsvenso

72. aSPHmaWelsl, OuUl  e&im  OFmebev  Wwewlp  QUUIUD  eTeml  &H(HEU6TEHEUT
Gn B3I ATBITT?
a. BB e G HeneveuT
b. seweuet FBHGB QUTHT eUTSHBBEMBU GUTIDHMB [HL HBHILIGIGIT
C. H6 SGBBHSHTM6T HELD AIl(HLDL|LIGUGT
d. s seveumeaBu GHUIaDTEs CBTem(h (BTG SHUNCEVILH ETBeM6T
e. alenL Oz flwealsdenso
What characteristics of a woman who would say to rain and it was raining?
The female leader who rules the country
Can spend within the means of her husband, is a help in the domestic life
She wants the good of her neighbours
She worships her husband as a deity
Answer not known

Can o
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73.  Match the following
Vitamin
A. Retinol
B. Calciferol
C. Tocopherol
D. Derivative of Quinone

A B C
a. 3 2 4
b. 1 2 4
C. 1 2 3
d. 3 2 1
e. Answer not known
QUTHSHHIB
emeUL_L_LOl6oT
A. Qpligemed

B. a&mevd.".Quymed
C. GLrBsm.".OLgmed

D. @uiGsmeled(mbal
CuBILBL CeudlLIGUIT(HeT

A B C
a. 3 2 4
b. 1 2 4
C. 1 2 3
d. 3 2 1

e. alemLGgflwealsbenso

74.  Match the following
List1
A. Vitamin By
B. Vitamin B>
C. Vitamin B3
D. Vitamin Be
E. Vitamin B1»
A B
5 4
5 3
5 3
3 4
e. Answer not known
QumTpSHHIH
emaul L Olenr B
el Lidlesr Bo
el L Oer Bs
amall L Oer Bg
el L Oer Bio

S
Ul = = WA

moN=p

Deficiency Disorder

1. Sterility

2. Rickets

3. Xerophthalmia

4. Blood clotting is prevented.

D

1

3

4

4
GeopuUT®  Chmuisein
1. 6oL (HhSHHGIENLD
2. fld0sL 610
3. FCgmiugmeoLowim
4. QUHHD 2 _MBHEL HWL OLBTSHI

D

1

3

4

4

ListII

1. Pyridoxine

2. Cyanocobalamine
3. Niacin

4. Riboflavin

5. Thiamine

E

el

2
2
2
2

L& en0lasT

O FWICeTTEHTLIT60EmLDGIT
mlwimeear

fGum.” .L1Gemeest
SHWILbleor

Nk wN =
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75.

76.

26 | Page

WO g gy
B W W g
G Ros WA

a
b.
C.
d.
e. alewL O flwailsvenso
Match the following
List1
A. Vitamin A
B. Vitamin D
C. Vitamin E
D. Vitamin K
A
4
4
3
2
e. Answer not known
QUTHSHHIB
ugad — I
. emeul Lilerr A
amaul Lbesr D
el Lbesr E
ameul_ Lidesr K

A
a. 4
b. 4
C. 3
d
e.

oo oe
|
BN WRN AN

ONn=wp»

S o e
%Nwmn

2
alenL Oz flwelebenso

Match the following
Vitamins

A. Thiamine

B. Riboflavin

C. Niacin

D. Cyanocobalamine
E. Ascorbic acid

A B C
a 3 4 2
b. 3 2 4
C. 4 2 1
d 4 2 3
e. Answer not known

el
NN NN

ListII

1. Calciferol
2. Tocopherol
3. Retinol

4. Coumarol

Wk N W

ugs — 1

1. &me0d.".CLIFmTeD
2. GLBsm. .Cluymed
3. @Iyl 1geunTe0

4. QBeMLDJTeD

W k=N Wg

Deficiency Disorder
1. Pernicious anaemia
2. Pellagra

3. Beriberi

4. Cheilosis

5. Scurvy

E

=W R =
6@, IS [@)
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QuTHSHHIH

m&UL_L_LOl6oTEH6IT GEIICHEINER]
A. sunber 1. 2 ullewy CGuris@b BrHHCFTmSH
B. §iGum."..9Gema i &5t 2. Quevmsym
C. pwmealer 3. EuAGUM
D. ewswBamBsmumevenioet 4. &Sedwimdlerd
E. sesmis oudeold 5. erosmgal
A B C D E
a. 3 4 2 1 5
b. 3 2 4 1 5
C. 4 2 1 3 5
d 4 2 3 1 5
e. alenL Oz flwalsvenso
77.  Pasteurization involves boiling of milk to a temperature of for about
and suddenly cooling to destroy the microbes present in the milk.
a. 53°C, 25 minutes b. 63°C, 30 minutes c. 73°C, 30 minutes
d. 73°C, 30 minutes e. Answer not known
UTeOLT USSR  (Wpempuiled  LITed GeuliLmleneouied BILOL_MIg6iT
Cargsemassiul B 2 LGBar  @Gefipl GLoumips uTelled 2o eiten  Hiewianulfser
SIPSBLILBHS SIB6IT.

a. 53° C, 25 plflL_miseit b. 63° C, 30 mhiilmiserr c.73° C, 25 mibl_miseir
d. 73° C, 30 @il miseit e. a0z flwalebensv

78.  Match the following :

List I List II

A. Pomology 1. Vegetable farming

B. Olericulture 2. Flowers farming

C. Floriculture 3. Fruit farming

D. Landscape Gardening 4. Gardening farming
A B C D

a. 3 1 2 4

b. 1 3 2 4

C. 2 3 1 4

d 3 2 1 4

e. Answer not known

CUIT(HSHSI:

ugd — 1 uggd — 11

A. Gumorevgd 1. sruispill LewTeneuT

B. @eiflsevgi 2. ymBsmlLLI LewTeneuor

C. yBenmilaevait 3. LIDBIGET  LIGHT606uT

D. Gevemr er0@aL1 &ML 6w 4. Hev SIMW6|G CHTL L BIH6T
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A B C D
a 3 1 2 4
b. 1 3 2 4
C. 2 3 1 4
d. 3 2 1 4
e. alewL O flwailsvenso
79.  Match the following:
Bio fertiliser types
A. Rhizobium 1. Aquatic fern
B. Mychorriza 2. Nitrogen fixing bacteria
C. Azolla 3. Soil bacterium
D. Azospirillum 4. Fungi
A B C D
a. 3 4 1 2
b. 4 3 1 2
C. 2 4 3 1
d. 3 4 2 1
e. Answer not known
CUITHSHSI:
o2 uifl o gib QUMD
A. eoyGamiuib 1. BT Guyewf
B. wwsBsr enyam 2. MBLIMMT HeneOLILBSHSHID LTleflwm
C. 9@gmeur 3. 6wl GUMD LIm&lefuib
D. 9B8gmervenLiflsveuld 4. YGhanF
A B C D
a 3 4 1 2
b. 4 3 1 2
C. 2 4 3 1
d 3 4 2 1
e. alewL g flwalsvenso

80. Usmwpd HTHS alHUD Wwemeial SevsunHalTdh@, BFWhed Guaild Lem®euT (e
Gumed BLISGD GBS HwL E60En6V.
a. @hos\ b. gmi c. Goupid d. ufl e sl OxNwealevemnen
The man whose wife seeks not the praise (of chastity) cannot walk with
like stately step, before those who revile them
a. gnamali b. eru c.vezham d.pari e. answer not known

81.  Match the following:

Nitrogen Cycle Microorganism
A. Nitrogen fixation 1. Pseudomonas
B. Ammonification 2. Nitrosomonas
C. Nitrification 3. Nostoc

D. Denitrification 4. Fungi

A B C D
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a 3 4 2 1
b 4 3 2 1
C 4 3 1 2
d. 3 4 1 2
e. Answer not known
QUTHSHSHIH:
mBLJe60T  Silpme [HIGUTEIIUT T 61T
A. BTN [Blene0mBIshaIdHe0 1. &GLGmemmend
B. oubGwreiwmeurged 2. e»pLIGFT@LomentTerd
C. bl Gy LmmHed 3. [BTELTS
D. eoplymer GeuefGuimmLD 4. YeheanF
A B C D
a. 3 4 2 1
b. 4 3 2 1
C. 4 3 1 2
d 3 4 1 2
e. alemL Gz flwealsbenso
82.  Match the following:
List -1 List - IT
A. Dorsiventral leaf 1. Green colour
B. Isobilateral leaf 2. Yellow, red colour
C. Chloroplast 3. Monocot plant
D. Chromoplast 4. Colourless
E. Leucoplast 5. Dicot plant
A B C D E
a 3 5 g 1 4
b 5 3 1 2 4
C 5 3 2 1 4
d 3 5 4 2 1
e. Answer not known
QUTHSHHIB
ugd 1 ugd 11
A. Guweddd Goupun® GCsmewiL Benev 1. UFMFFHBLD
B. 8mupwb @55 SemwlimLul Benev 2. ehFe, deuliy HIBLD
C. &GemmGymienmerdl 3. @HAIGHHMev BHTeUTLD
D. &GymGumlenmerdl 4. HIBLOBBSI
E. eduysGam Llenmerdl 5. BmalsHFHlemev HTeurd
A B C D E
a. 3 5 2 1 4
b. 5 3 1 2 4
C. 5 3 2 1 4
d. 3 5 4 2 1
e. alewL g flwalsvenso

83.  What hormoners help for formation of parthenocarpic fruits?
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a. Auxins b. Abscisic Acid c. Gibberellins

d.aandc e. Answer not known

unreHCerm &Miish salser o (HhauTdssHHBEG 6hd anTTCLTEIHeT 2 He dBa?
a. OL&HF1H6i b. eyifds ouflevid C. 29lirelesibelt

d. a wpmib ¢ e. alenL OxfNwealsoemnev

84.  Application of cytokinin delays the process of ageing in plants. This is called

a. Richmond Lang effect b. Purkinje effect

c. Holtzman effect d. Gibbs - Donnan effect

e. Answer not known

aFL_BLTen B 6uT 65T 6mGTTLI LweTUGSSHIDCUITSI BT HIGH6IT (LPSHIEHLOWIEDL_ IS
STOSIBHSILGHBSH. DHBE et Euw.

a. M&wmen’ eummhis allenerey b. utdeaied alleneray

c. GammedL a0 Gert aflemerey d. &erd - Bermer alenerey

e. alemL Ggflwealedensy

85.  Which is a gaseous plant hormone ?

a. Auxin b. Cytokinin c. Ethylene
d. ABA e. Answer not known
eumu| Hlemeoulled o eitenn Smeuy aBTTGLOTeT 61517
a. oLEHer b. ol GLTewseMN 6 C. a1HHeVent
d. ABA e. a0z fwalsbenew
86.  The term "Chromosomes" was first coined by in 1888.
a. Waldeyer b. Robert Brown c. Robert Hooke
d. Theodor Schwann e. Answer not known

areiiLieum 1888 60 " @CrmBonGamibmeii” e1IB  GFTELEMEV  (PSHET  (LPH6eVI6D
® (Heumdhd LWeTLBSHSH6ITT.
a. eumeLGLWIT b. gmuim’ 9Gyemes c. gmum’. anfs
d. HwmLit evdoFeurmest e. el O flwalsenev

87.  Find the correct statements
1. Majority of animal and bacterial viruses are DNA viruses.
2. HIV is the animal virus which possess RNA
3. Plant viruses generally contain RNA
4. Cauliflower Mosaic virus possess DNA
a.1, 3 correct 2, 4 incorrect b. 1, 2, 3, correct 4 incorrect
c.1,2,3,4 correct d. 2, 4 correct 1, 3 incorrect

e. Answer not known
Fgflwner auTdhSLIBIGmend HeT(BHLIG.

1. Qupbumeurer allevmig, UTdhleflul eweugervdeT DNA  eneaugerdsenm@Lb.
2. HIV ailevmig evaugerons @mliianid RNA eneuds Gamemi(Beitendl

3. gmeuy eweugerosder GuTHieuTs RNA eneud Oomeni(heiterme.

4. smed. .Weneu Gomengd eneugervdst DNA emeull QuBmieieet.
a.1,3 oM 2,4 sfluwedev b.1,2,3 &M 4 sfwevev
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c.1,2,3,4 oM d.2,4 s 1,3 sfwedev
e. alewL g flwailsvenso

88. ol T o galuyw e OFLwWTHmEsl VBT saoddd s o FHaldE
M MBLMBTES OBFTHHITID FH Dd (LPIQUITSHI.

a. LDGITEII6VEN S b. alewiemievends C. LTHT6I66060dH

d. a wBmgw b e. alenL Oz fNweaileoemnev

The gift of is not an equivalent for a benefit which is conferred where
none had been received

a. earth b. heaven c. underground world
d.aandb e. answer not known

89.  Match the following:

Scientist System of classification
A. carl Linnaeus 1. four kingdom
B. Ernst Haeckel 2. Five kingdom
C. Copeland 3. Two kingdom
D. R.H. Whittaker 4. Three Kingdom
A B C D
a. 3 4 1 2
b. 4 3 1 2
C. 3 1 4 2
d. 1 4 3 2
e. Answer not known
OUIT(hSSI:
S ailwleomeniT6it QUMSLILTL (B (LPemBEH6IT
A. &1ied 60a1GeuTuIerD 1. Bresg OumbLifey
B. giGeare OQamsBsed 2. 2bhg OupbLfey
C. GamiiBeuewil_ 3. ®yewi(p Qu(mLbLIMey
D. R.H. ol GLsaiT 4. apeiml GQu(nbLIfey
A B C D
a 3 4 1 2
b. 4 3 1 2
C. 3 1 4 2
d 1 4 3 2
e. alemL Oz flwelsbenso
90.  What is the temperature of cryopreservation using liquid nitrogen?
a. -196°C b. 196°C c.-167°C
d. -169°C e. Answer not known
gyeu bl IRmean UWL@LGSSID 2 mB@&eiiTurgismiier GeuliLpleney 6166’
a.-196°C b. 196°C c.-167°C
d. -169°C e. alenL Qs fwealsoenev
91.  The thickness of the ozone column of air is measured by units.
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92.

93.

a. Dobson b. Erlang c. centimorgan

d. Fermi e. Answer not known

@BameT OIBHBHBT HlQLOGHT SIVGHBHENT60  SleallL_LILIB 63360

a. Lmienest b. efeonmi C. GFengGomiTas e
d. Qumd e. el OFfwealsdensv

Which of the following plant indicators indicate of heavy metal contamination
in environment?
a. Robinia Pseudoacacia b. Petunia c. Lichens

d. Rose e. Answer not known
LNevTeu(HLD Hreuy G 19BITL 195 @TH6IT eI FMBBIFEL06060 60T o GBeurmg
STUInDECHL L& &L 19SHSTL(HLD?

a. Gpmielwm @&GLT SIBsHAwir b. QuL @ehwr C. MELHDHGHBGIT
d. Gymegr e. el OxfNweailsoenev
Match the following:
List -1 List - II
A. World health day 1. 1st December
B. World Malaria day 2.7t April
C. World AIDS day 3. 25t April
D. World Anti-Tuberculosis day 4. 24th March
A B C D
a. 2 4 1 3
b. 2 3 1 4
C. 3 2 1 4
d. 1 2 3 4
e. Answer not known
QUT(HSHIS:
ugd — I ugd — 11
A. 2 08 GBTHT] Heuid 1. 19&bu 1
B. 2 60 10Bsuflwim gleorid 2. gligev 7
C. 2 o0& el e gHerd 3. gliyev 25
D. 2 03 a1e@mTUI FHeorbd 4. omtF 24
A B C D
a 2 4 1 3
b. 2 3 1 4
C. 3 2 1 4
d. 1 2 3 4
e. alewL g flwalsvenso
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94.  Match the following:

Disease Causative organism

A. Mumps 1. Bordetalla pertusis

B. Chicken pox 2. Varicella Zoster

C. Diptheria 3. Myxovirus

D. Whooping cough 4. Cornyebacterium diphtheriae
A B C D

a. 3 2 4 1

b. 2 3 4 1

C. 1 3 4 2

d. 3 1 4 2

e. Answer not known

QUT(HSHHIS:

Gl Gpmuiss sy emni

A. Quneies@ aimhid 1. GurEOL GLsveom GLITH 61D

B. dsenbenio 2. eumf@geveom GeromerdLiT

C. . .0gflwur 3. bG8 Taalyerd

D. sd@eunet ©)moe0 4. Ganiefurdlefuid 19.".0185MGwW
A B C D

a 3 2 4 1

b. 2 3 4 1

C. 1 3 4 2

d 3 1 4 2

e. alenL g flweilsdenso

95. @eitenl  LWeT  FHewLHGLD  eISIm  QLITWTNED  @Uheust  GFulgh 2 gaeiluler

SIETLEML MM HLITUIHSHTED DIH6HT [HeITenLD malul Guflwar@Lb.

a. Guereutd b. syised C. &L

d. @ SMRIHHID e. alenL O fNuwalsvenew

If we weigh the excellence of a benefit which is conferred without weighing the
return, it is larger than the

a. pavvam b. aarkali c. kadal

d. all of these e. Answer not known

96.  Which of the following is the insect vector borne disease?

1. Chikungunya 2. Dengue 3. Malaria

4. Filaria 5. Swine flu

a.1,2,3,4,5 correct b.1, 2, 3, 4 correct 5 incorrect
c.2,3,4 correct 1, 5 incorrect d. 1, 2, 3 correct 4, 5 incorrect

e. Answer not known
Leteu(heueiouBmien o1gl UFF el &LSHd eufl ugeyd GmmuisenT@id?

1. Hb@eangemiwm 2. QLmEIG 3. wGeuflwmr
4. ..emuGeoflwr 5. GroGmEUGHT L|6Th

a.1,2,3,4,5 &M b.1,2,3,4 s 5 sflwevev
c.2,3,4 s 1,5 sMuwevev d.1,2,3 af 4, 5 sfluwevev

e. alenL g flwalsvemnso
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97.

98.

Match the following:

Disease causative organism

A. Swine flu 1. Human Papilloma virus

B. Avian flu 2. Herpes simplex virus

C. Genital warts 3. Influenza virus HiN

D. Genital Herpes 4. Influenza virus HsN1
A B C D

a. 3 4 1 2

b. 4 3 1 2

C. 3 1 4 2

d 4 1 3 2

e. Answer not known

QUTHSHHIB

Gl Gpmuiss sy el

A. uSSsTUIEFSF60 1. wellg LTILIGeOTOT eMeuT6rd

B. upemeussmuiFsed 2. Gammied HAbLGeTdHed emeuTerd
C. Upiypinied Qsmiyend 3. @eiepuweiam eweugerd HiN7.

D. dsiymiinied Gammiled 4. Sebienuwieiam eneugerd HsN1

A B C D
a 3 4 1 2
b. 4 3 1 2
C. 3 1 4 2
d 4 1 3 2
e. alenL g flweilsdenso

Consider the following statements:

Assertion (A): Matured mammalian RBCs do not have nucleus.

Reason (R) : Mammalian RBC lack nucleus and makes the cell biconcave and
increase the surface area for oxygen binding.

a. Both (A) and (R) are correct and (R) is the correct explanation to (A)

b. Both (A) and (R) are correct but (R) is not the correct explanation to (A)

c. (A)is true but (R) is false

d. (A)is false but (R) is true

e. Answer not known

LI&STeU(BLD UTSHELIMIGMENED H(HHH 60 OB,

aBm  (A) : utrlyseiear WHTES SeLbs BIsHd Halugpels o L &b
ST ILHEISH606m60.

amgemid  (R):  umeumgseflest RBC  —ufled o Uas@m  Seveord(mLiLigermed
SIFOFEOETEIH

@musBld  GWHS SwlmUl  QuBB  SIFHeTey  HFMET  E6n6unTeuHBBHTET
Gupurtiiener GUBBIGTETSI.

a. (A) wppd (R) s Gwed (R) essiug (A) &g sflwmer afendsid

b. (A) wBpw (R) sf semmed (R) eteiiugy (A)d@ sfwrer alendsd oi6060

c. (A) sf spemed (R) seums

d. (A) seup spemed (R) &

e. alomL 0z flwealsdenev
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99.  Match the following:
WBC percentage
A. Neutrophils 1. 60 - 65%
B. Eosinophils 2.2-3%
C. Basophils 3.05-1.0%
D. Lymphocytes 4.20 -25%
E. Monocytes 5.5-6%
A B C D E
a. 1 3 2 4 5
b. 1 5 2 4 3
C. 1 2 3 4 5
d. 1 2 5 4 3
e. Answer not known
QUT(HSHIS:
WBC FSHaispld
A. Bpluy Gym." 6061 1. 60 - 65%
B. #dGeunm. . Ne0ameir 2.2-3%
C. GuBsan." .Nevaeir 3.05-1.0%
D. &dib. .GurenaL el 4.20-25%
E. GurGeimensL e 5.5-6%
A B C D E
a 1 3 2 4 5
b. 1 5 2 4 3
C. 1 2 3 4 5
d 1 2 5 4 3
e. alL g flwailsvenso

100.  Consider the following statements:
Assertion (A) : cortisol is also known as life - saving hormone.
Reason (R) : cortisol serves to maintain the body in living condition and recover
it from the Severe effects of stress reactions.
a. Both (A) and (R) are correct and (R) is the correct explanation to (A)
b. Both (A) and (R) are correct but (R) is not the correct explanation to (A)
c. (A)is true but (R) is false
d. (A)is false but (R) is true
e. Answer not known
Leieu(HD UTSHSIRBISHISMENT &(HHDHED CHTEIT.
aaBm (A) : &nmlgBamed o ullit &rd@ amTiGLTeET aTampID DIMWSHSLILIGSBSI.
smyenid (R) : &nilgBsmed o Lewev 2 uliiy meneoulsd emeudhdhobasald LOGHD
UTSIL LOBMILD 6T DI(DSHSHHISHeMeS(HHSHI LWIH UFaD 2 He B BSH.
wppid (R) afl Guweid (R) etesiug (A)ég aflwrer alendasd
wBpib (R) s eemed (R) eieug (A)de aflwrer alendsd oie060
afl opemed (R) seumi
sauml gpemev (R) &

Aan o

B
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101.

102.

103.

e. alewL Oz fluwaisbensv

Consider the following statements:

Assertion (A) : Sometimes fraternal twins develop in human uterus.

Reason (R) : Sometimes ovaries releases two eggs and each is fertilised by a
different sperm

a. Both (A) and (R) are correct and (R) is the correct explanation to (A).

b. Both (A) and (R) are correct but (R) is not the correct explanation to (A)

c. (A)is true but (R) is false

d. (A)is false but (R) is true

e. Answer not known

LN6TaU(HLD  6UTHEHWLIBIBEMETSH  FH6160T:

amBp  (A) @ v Cpymseisd GaupullL SJlenLwiser welldh  sbLemuuied

© (TH6UTEdTM360TT.

amgewid  (R):  dlev  gFownmseisd, SWILGHHemmed  QIewiBG (LU DL UWITEIS

CeuelWiLiiuc @, &m Coupul’ L albaHeuTed SHABIHD HevL CLNBISBSI.

a. (A) wspd (R) M Gweud (R) eatiug (A) &@ gflwmer alendastid.

b. (A) wspw (R) M eyemmed (R) eraiug (A)sg asflwmer allendsd 6060

c. (A) M spemed (R) seum

d. (A) seup syemmed (R) &

e. alemL G flwealedenso

What is the formula of Body mass index (BMI)

a. BMI = Weight (kg) / Height (m)?
b. BMI = Weight (g) / Height (m)?

c. BMI = Weight (mg) / Height (m)?
d. BMI = Wight (kg) / Height (cm)?

e. Answer not known

® | BuUmBLES GBUIL e @&éHrnd (BMI) eresen?
a. BMI = aenL (H&)/ 2_wgbd (1)’

b. BMI = aienr. (&)/ o _wgib (18)°

c. BMI = aen (10&) / o wgid (5)°

d. BMI = eaenL (&) / 2 _wgb (GF.18)°

e. alemL Oz flwealsbenso

Match the following:
Salivary Gland Duct
A. Parotids gland - 1. Wharton’s duct

2. Bartholin’s duct
3. Stenson’s duct

B. Sublingual gland
C. Sub Maxillary Gland

A B C
a 3 2 1
b. 1 2 3
C. 2 3 1
d 1 3 2
e. Answer not known
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104.

105.

106.

107.

37 | Page

QUTHSHSHIH:

o IOPKT &Iind

A. Gevemiemtd Gyl
B. mreugd &gl

C. GusbgmenLF &gl

T6MLD

1. eumLedfledr [Br6Nmb
2. uyBzmpmelledt [HTEILD
3. O 6IIF6T [BT6NLD

A B C
a 3 2 1
b. 1 2 3
C. 2 3 1
d 1 3 2
e. alewL O flwailsvenso
SIpmLW  Heubmsd Curdhdl o galweuller BLMU  aHHmen  LIBLILS6T60

opeurosd GumBpieuT GuiGuwim?

a. @UIplifed L (Hb b. g Upiy BxHTmid
d. e gaiflevenev e. alenL O fwalsvenen
The wise will remember throughout their
wiped away their affliction
a. this birth

d. none of these

c. 9IB$s Limried oG
the love of those who have
c. next birth

b. seven-fold births
d. Answer not known

The parietal or oxyntic cells secrete HCl and an intrinsic factor responsible for
the absorption of called castle’s intrinsic factor

a. Vitamin Bi2 b. Vitamin Be c. Vitamin By

d. Vitamin B> e. Answer not known

CuengLLed OF60m6T SlevevEH SHFeagd OFevdel  emaml Crm@Geanmfles  oifleod
LOBILD m o ' FrFdbesd Chemeuwnear GodFe0erd 2 6ilemenidd ST 6T enUILLD
&ilJ & IB6IT.

a. el Lflesr B,
d. eweul Lifleir B,

b. eneu’ Lifer B, c. ewaul Liflest B,

e. alenL g flwealsbenso

On an average, a healthy human breathes

a. 10-12 times / minute b. 10-14 times / minute

c. 12-14 times / minute d. 12-16 times / minute

e. Answer not known

@ Crradlwiorer welgHeler Fyraf geurgd .

a. 10 - 12 wewmeseir / mibL b b. 10 - 14 wevmser / Hiblib
c. 12 - 14 wevmpaseit / HibL b d. 12 -1 6 weomaset / HIOLID
e. alenL g flwalsvemnso

Match the following:

Plasma Constituents
A. Water 1.0.9%

B. Inorganic Constituents 2.0.1%

C. Organic Constituents 3. 80-92%
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108.

109.

A B C
a 3 1 2
b 1 2 3
C 3 2 1
d 2 3 1
e. Answer not known
QUTHHSHIH:
LlenmmeroLDT FnMIBH6IT
A. @i 1.0.9%
B. safiol GQurmLl el 2.0.1%
C. &Ml GumpL e 3.80-92%
A B C
a 3 1 2
b. 1 2 3
C. 3 2 1
d 2 3 1
e. alemL Gz flwealsbenso

The four main types of plasma proteins albumin, globulin, prothrombin and
fibrinogen are synthesized by which organ?
a. Kidney b. Liver c. Bone Marrow

d. Thymus gland e. Answer not known
BTeiE (WHSw  enmedor  Lsmisenmer  SjeoLier,  &Genmelest,  LGTmSHymLbLI 6ot
BpIb . .oulfiammear guduimeal 6bhsh . mIiuTed o BusSd GauwiuGaBg?

a. dppysid b. @&svalyed C. GTEYIDL| LDEREMEY
d. engwerd &yl e. el O fwalsdenew
Match the following;:
Blood Group Agglutinin
A A - 1. No Antibodies
B.B - 2. Anti A and Anti B
C.AB - 3. Anti A
D.O - 4. Anti B

A B C D
a. 1 2 3 4
b. 4 3 1 2
C. 3 4 2 1
d. 2 3 4 1
e. Answer not known
QUTHHHIH:
B3 G Db eThL 19 il 6BTEB 61T
A A 1. SLETQLITIQH6T E606m60
B.B 2. oyt A oBmid sy B
C.AB 3. ayeng A
D.O 4. syemg B
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110.

111.

112.

QN oW
N Wb =y
W WN W
BN = WA
=N e g

e. alewL O flwalsvenso

Consider the following statements:

Assertion (A): Blood Samples are usually taken from the veins rather than

artery

Reason (R): The Veins are found superficially and the veins have low pressure

than arteries

a. Both A and R are correct and R is the correct explanation to A

b. Both A and R are correct and R is not the correct explanation to A

c. A is true but R is false

c. A is false but R is true

LNeTeU(HLD aUTHB RIS  H(HHH60OIBHTEIT.

ampp (A) : Buss  widflser  aBss  OuTgluts  Fwalsemenr  alLF
HevgaGen FpbHene.

smgenid  (R): Hewgseir 2 Lefed  Gumupors — srewlu@GSamer  Gwevid
Soelsmen all FlenpEsT SIPSHID (GHMMBHHME.

a. (A) wppw (R) @yemen s Gwed (R) eewug (A)seg sflwmer afendsd

b. (A) wpp (R) @yewibn sf opemmed (R) eratiug (A)de sflwmer efendsid

SI606V

c. (A) sf apemed (R) seumi

d. (A) seoup syemed (R) &

e. el Oaflwelsdenso

Which of the following is correct?

a. Pulse Pressure = Systolic Pressure - Diastolic Pressure

b. Pulse Pressure = Diastolic Pressure - Systolic Pressure

c. Pulse Pressure = Heart Rate x Stroke Volume

d. Pulse Pressure = Heart Rate x EDV

e. Answer not known

Ledteu(meueteuBmIeT 61ghl Fifluimeng?

a. BTYSSBIgLL] SIWSHHD = FevBLTedld DIWPSHSHD - LuledBLTedld SIS

b. BT9SHSII] SIWLSSD = LwewBLTeld SIpSHHID - FerdBLTedd DIIPSHHID
BTYSHBI] SWSS0 = BHUSSIgUL aisd X eiFsHbsmeense

. BIRSHBIIL SISSD = BawdHsi aignd *x EDV

e. alewL g flwalsvenso

o n

LetTau(hHeuaTeuiBens LIS

aBm (A) : @meuT (a1 QFUIs HeTeweW WBLILIG DB SieTH)
smyenid (R): oeuT Qauis domwenw! SIGLTWLEs LBULIZG SIBD SKEGLD
a. (A) wBpd (R) sf Gweud (R) ereiug (A)d@ sfwrer alenssomgbd
b. (A) v (R) &f Gwed (R) ereiiug (A)dbg afwmer alendasosden
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c. (A) s spemed (R) seum

d. (A) seup syemed (R) &

e. alenL Oz flwalsvemnso

Consider the following

Assertion (A): It is not good to forget a benefit

Reason (R): it is good to forget an injury even in the very moment
A and R are true R is the correct explanation of A

A and R are true R is not the correct explanation of A
A true but R false

A false but R true

Answer not known

oo o

113.  Which of the following is secreted by Adenohypophysis?
1. GH 2. PRL 3. GTH 4. ADH 5. FSH
a.1,2,3,4,5 correct b.1, 2, 3,5 correct 4 incorrect
c.1,2,3 correct 4, 5 incorrect d. 1, 3, 5 correct 2, 4 incorrect

e. Answer not known
Leteu(meusteuBmien 61gl SigCammenamliGuUTenLIeIgTed &iJéaLILIBGSIBHI?

1,
1

7

1. GH 2. PRL 3. GTH 4. ADH 5. FSH
a.1,2,3,4,5aM b.1,2,3,5 M4 sfuevev
c.1,2,3af 4,5 afluesvew d.1, 3,5 sM 2, 4 sfluwsden

e. alenL G5 flweledenso

114.  Which of the following helps in the contraction of the smooth muscles of
uterus at the time of child brith and milk Ejection gland after child birth?
a. Oxytocin b. prolactin c. Vasopressin

d. Adrenaline e. Answer not known
Uetteu(heoteummiel 61& Guenidaiea GWhHenSLICUBMIe Gumrgl S@HLILMW  F(HEBHSUD
GUhmaICUBBIS®  LUIBG uted  S&JUdselled  umemev  GeuafGUBBIISBEG LD

STTRILTSEBSI?
a. HFCLT e b. yGymevmdsieest C. eum@amiiydlesr
d. on fedefes e. alenL O fuwalsenew

115.  The reactions of glycolysis occurs in the

a. Mitochondria and require the presence of oxygen

b. Chloroplast and do not require the presence of oxygen

c. Cytoplasm and do not require the presence of oxygen

d. Peroxysomes and require the presence of oxygen

e. Answer not known

HlenendsTedendlond - alenerdel HevL GLIBIeUSI
el BLramer fwmeled wB@Id éFleer CHemauliBD Heneouied
LGmIGemIEHH60 LBEBID HbFlmear Chameauuleveors Hlensoulsd
mFL LT enTasHdHed BBID dHFmer Chemeauuisveors meneouied
QuyTaFGeromidled LOBMID SHFmer ChHameuliBLd Bleneouisd
allenL g flualsvenso

oanoe
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116. is essential for binding of Ribosomal sub units.

L. Mo II. Mg L. C IV. Ca
a. I and II only b. IT only c. Il and IV only
d. IV only e. Answer not known
amICUTBFTID FHlewewl ©IGVGHM6NT EemenTcbdl] LIULIGTLHLD SHeufllolb
L. Mo II. Mg III. IV. Ca
a.l wmgd II o’ G b. I ' G c. III wmmgd IV wr G
d. IV o @i e. alenL O MNwalsvenew
117.  Which of the following plant boosts the production of red blood cells?
a. Turmeric b. Tulsi c. Lemon grass
d. Mustard e. Answer not known
UelreupeuaieuBpled 6bd SHTeufld @JHs Feulilgn © BUSHHMU SHITEWILS SnlguidH?
a. LoEhT eI b. giendl C. eIOFFID 16D
d. a6 e. el OxfNweailsoenev

118.  Which is the native place of Eucalyptus?

a. Asia b. Antarctica c. Africa

d. Australia e. Answer not known

WSV 61D  LOJHIGTET LTaisD 6157

a. spflwir b. sewi_rmgsm C. ouniflébasr

d. oyervadGredwim e. a0z fwalsbenew

119.  Which among the following is used to treat sewage?
a. Diatom, Fucus b. Chondrus, Chara
c. Chlorella, Chlamydomonas d. Chondrus, Gracilaria
e. Answer not known
spaumeueTaBpled Hley BT FHHHHMINeD LweLBeug 61517
a. Lwmebd . fuysend b. &men_yerd, Gaym
c. &BenmGysveum, &lemmlGLTGLDT6ITEN d. e ge, @gmdGeuflwim
e. alewL g flwalsvenso

120.  “we1 2 _gal OCauigeuT e OsremrT CuTEB SHIETUSmSF CFUISTITEITEILD,
ST (P& CFUISH H HETNOMU! HENATHSHTOID HbHSH HIGLD BB 6IHILImS
® GUITHSHID GHM6T WmH?

a. ehBes QBTAIBITHGHD 2 WI|ewILTD o u1aleens0
CauIbHeTs QBT LOBHBE).

b. Qaraipeien Seem GFulamid DeUTOFUIH
QDBIBEIB ©_6iTend GaBLD.

C. BMeudhd eMmBOFus Bl Fnfesalaid
@hTevGHFHlerr Lomewrll Guifig.

d. B BluB HETBEIG BBV
SIGT8B MU HETHI.

e. aleL g flwalsenso

Choose the apt Kural for the following meaning
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121.

122.

Though one inflict an injury great as murder, it will perish before the thought
of one benefit (formerly) conferred

a. Who every good have killed, may yet destruction flee;
Who 'benefit' has killed, that man shall ne'er 'scape free
b. Effaced straightway is deadliest injury,
By thought of one kind act in days gone by
c. A timely benefit, -though thing of little worth,
The gift itself, -in excellence transcends the earth
d. 'Tis never good to let the thought of good things done thee pass away;
Of things not good, 'tis good to rid thy memory that very day
e. Answer not known

Which of the following statements is/are correct regarding blood volume in

human beings?

1. Inadult human being the total volume of blood is about 5 litres.

2. The average volume of blood is calculated on weight basis.

3. In human beings approximately 70 ml of blood for each kilogram of body
weight.

Select the correct answer using the code given below.

a.1 only b. 1 and 2 only c.2and 3 only

d.1,2and 3 e. Answer not known

SPOBTHSHFSLILUL (66  aUTHHWSHHL  walH@InL W  AJHSH D66y  6T&ILSH 60

gilwmengl almLemwl CHTHOHBHBLD.

1. el CwrdHd AIHs Sleney SITEfwms 5 LLT EHHESLD.

2. walpmimLul rHs Sleney FITaFfl o L 60 elenLulel(hbdH HeTSHSILLILIBGSBSI.

3. welp@mLul @rHd e o Lev sl uled 1 SHCeondlymupd@ gyrafwns 70
ml Br&sb e BB LILBABSI.

a. 1 LG b. 1 wBmib 2 wl G C. 2 wBmIb 3 LB
d. 1, 2 wBmpd 3 e. alemL Oxfwalsvensv
Match the following
Hormone Disease
A. Deficiency of growth hormone 1. Diabetes insipidus
B. Deficiency of vasopreesin 2. Grave’s disease
C. Deficiency of thyroxine 3. Dwarfism
D. Increase of thryoxine 4. Cretinism
A B C D

a. 2 3 4 1
b. 3 1 4 2
C. 3 2 1 4
d 1 2 3 4
e. Answer not known
OUTHSHSHIB

amT@Lomedr Gpruisel
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A. auenit&dl ammTGLOTeT (& mBealsHTeL 1. eoLwnGuesd GerdiL e
B. aurGeromis 1yerbenfiedt (&emmeusHimed 2. &HCyaier Gpmul
C. engymeHenie (&emBelsbTed 3. &6IT6NSHH6TeNLD
D. engymédenien 18 s0malshTen 4. Ffigefeld
A B C D
a. 2 3 4 1
b. 3 1 4 2
C. 3 2 1 4
d 1 2 3 4
e. alenLOxflwalsvemnso

123.  Find out the wrong statement

a. The phloem in gymnosperms lacks companion cells

b. Pollinations is one mophilous in gymnosperms

c. The ovules are protected by the carpels in gymnosperms

d. Vessels are usually absent from the xylem of gymnosperms

e. Answer not known

SPEHMIL HHSHHH6MD HoupTearend &L 1985 STewiLlbHaLD.

a. GemerdLimibseiled  sTewiliLBL  LGemmwid sBenBHeied Campenos  6lgeosein
STEWILILI(H S 606M6V.

b. MwGamevuibsefled W&IHS BFThemd HIBB LHOTS b b HIBSI.

C. 2bGeumerdLIMbEH6M6l GHe0H6T HITLIGTHENMTEY LITSHIBTEHSLILIL (BET6NI.

d. ewaeud SHBenB61Te0 CuITgIeUTS CleugeLH 6l o3l1DBeTTerOLITLDSH 6160
STeuotILI([BH6UH606m6V

e. aleLOsflwalsoemev.

124. In forensic science, has become useful technique to identify and
found relationship of a person.
a. DNA finger printing b. antisense RNA technique
c. Animal cloning d. Tissue culture

e. Answer not known

SLW oPfialweded @b WalHener SIEHLWTEND STENIHO LBBID 2 melen(LPenBenu
SeUiLi 2 gab CEHTHBHEIL LD

a. DNA afjeoGyens L6y

b. auewigGsesi RNA technique (RNA Gamifibmi Lib)

C. allevmisdlen &Gemmeniims

d. Ha euenfiiy

e. alewL g flwalsvenso

125.  Difference between RNA and DNA is that of
a. Phosphate and sugar b. Phosphate and Nitrogenous base
c. Nucleoside and nucleotide d. Sugar and nitrogenous base
e. Answer not known
SYT.61601.6] LOBMILD 19.6T601.6] —HGD BewLuied o eitenm GoumiLmh 6TeTLS
a. umerBul. BB FTdsmIUied 2 6iTerng
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126.

127.

128.

129.

130.

131.

132.

133.

134.

b. umerdGuL. wBmID B FTedlererd GLierd-60 ©_6iTeng)

C. P sefCureng® wBmID BuLdalGumeLiged 2 6Teng|

d. sy WwBBID B JTedermed Guerd-60 o 6iTeng)

e. alenL g flwalsvemnso

Choose the correct combination for the given compound word:

Taxi driver

a. Gerund + Verb b. Adj + Noun ¢. Noun + Noun
d. Noun + Prep. e. Answer not known

Choose the correct combination for the given compound word:

Back ground

a. Verb + Adj b. Prep.+ Adj c. Prep.+ Gerund
d. Prep. + Noun e. Answer not known

Choose the correct combination for the given compound word:

Give up

a. Verb + Prep. b. Adj + Verb c. Noun + Gerund
d. Noun + Verb e. Answer not known

Choose the correct combination for the given compound word:

‘birdwatching’
a. Adv. + Verb b. Adj. + Verb c. Noun + Verb
d. Noun + Gerund e. Answer not known

Choose the correct combination for the given compound word ‘pushbutton’
a. Verb + Noun b. Verb + Adij. c. Noun + Noun
d. Noun + Verb e. Answer not known

Choose the correct combination for the given compound word ‘redrose’
a. verb + Noun b. Noun + Noun c. Adj. + Noun
d. Prep. + Gerund e. Answer not known

Choose the best answer to make a compound word
Which can be placed after ‘safe’?
a. chair b. guard c. shop

d. van e. Answer not known

Choose the right combination of the given blended words:
Cremains

a. cremation + dramatist  b. cremated + remains

C. crime + remains d. criminal + mains

e. Answer not known

Choose the right combination of the given blended words:
Beautility
a. beauty + ability b. beauty + utility c. beauty + facility

44 | Page 044-24339436, 42867555, 9840226187



135.

136.

137.

138.

139.

140.

141.

142.

143.

d. beauty + vitality e. Answer not known

Choose the right combination of the given blended words:
Edutainment

a. education + attainment b. education + entertainment
c. educator + attainment d. educator + entertainment
e. Answer not known

Choose the right combination of the given blended words:

Flurry

a. flutter + hurry b. flurt + ferry c. flat + furry
d. flatter + ferry e. Answer not known

Find out the blended words for the following

desk + breakfast
a. defast b. debreak c. desfast
d. deskfast e. Answer not known

Find out the blended words for the following

pocket + monster

a. pockster b. pokemon c. pocter
d. pocmon e. Answer not known

Find out the blended words for the following

christmas + easter

a. christer b. maseas c. chrisaster
d. cheaster e. Answer not known

Find out the blended words for the following;:

international + police

a. interlice b. internal c. Interpol
d. interop e. Answer not known

Find out the blended words for the following

electronic + commerce

a. e-cominerce b. electom c. electrocommerce
d. electrocom e. Answer not known

State which of the following sentences are not a Compound sentence

a. Man proposes, but God disposes. b. I went because I was invited.
c. Listen carefully and take notes. d. Whatever you do, do well.

e. Answer not known

Find out the correct option to complete the sentence
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You will certainly rewards for what you are doing.

a. get b. had got c. was getting
d. be getting e. Answer not known
144.  The rain completely our day.
a. spoilt b. is spoiling c. is spoilt
d. was spoilt e. Answer not known
145.  Sabithra her job by tomorrow evening.
a. will be completing b. will complete c. will have completed
d. will have been completing e. Answer not known
146.  Harshini her mother in making rangoli in the yard for last one hour.
a. is helping b. has helped c. has been helping
d. helps e. Answer not known
147.  Imran have studied more for the final exam than playing.
a. would b. should c.can
d. could e. Answer not known
148.  Inschools, students’ wear uniforms. It is compulsory.
a. should b. must c. may
d. ought e. Answer not known

149.  Select the correct voice

They broke up the table for firewood. / The table up for firewood.
a. broke b. had broken c. was broken
d. has broken e. Answer not known

150.  Select the correct voice

They speak English in New Zealand. / English in New Zealand.
a. is speaking b. is spoken c. is being spoken
d. spoke e. Answer not known

151. Select the correct voice

His attitude shocked me. / I by his attitude.
a. had shocked b. had been shocked c. was shocked
d. am shocked e. Answer not known

152.  Fill in the blank by choosing the most appropriate prepositional phrase from the
given options.

Everything falls to the ground earth’s gravitational pull.
a. in addition to b. because of c. cause of
d. in spite of e. Answer not known
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153.

154.

155.

156.

157.

158.

159.

160.

161.

162.

163.

Fill in the blank by choosing the most appropriate prepositional phrase from the
given options.

Asa of his hard work, he achieved the target.
a. instead of b. result of c. apart from
d. work of e. Answer not known

Fill in the blank by choosing the most appropriate prepositional phrase from the
given options.

He didn’t turn up his busy schedule.

a. consequence of b. due to c. except for

d. in spite of e. Answer not known

Fill in the blank using suitable preposition

What do you do weekends?

a.on b. during c. of

d.in e. Answer not known

Fill in the blank using suitable preposition

I am going to my village Sunday.

a.on b. at c.in d. from e. Answer not known
Fill in the blanks using suitable preposition

I haven’'t met my friends December

a. for b. since c. from d. on e. Answer not known
Fill in the blank using suitable preposition

He told me in detail the incident

a. about b. off c. of d. by e. Answer not known
Fill in the blank using suitable preposition

The ball fell the lake.

a.in b. into c. off d. on e. Answer not known
Fill in the blank using suitable preposition

There is a bridge across the river.

a. at b. across c. about d.on e. Answer not known

Find the antonym for the underlined word: Which are not to be despised.
a. hated b. liked c.respected d.defeated e. Answer not known

Find out the synonym of the underlined word

One is liable to put in too much milk.

a. likely b. certain C. eager
d. responsible e. Answer not known

Find out the synonym of the underlined word
He stood astounded.
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164.

165.

166.

167.

168.

169.

170.

171.

172.

173.

a. happy b. surprised c. shocked
d. excited e. Answer not known

Find out the synonym of the underlined word

He will make a capital workman.

a. wealth b. excellent c. profitable
d. head e. Answer not known

Find out the American English for cheque
a. chege b. cheque c. check
d. cheaque e. Answer not known

Find out the American English for luggage
a. luggage b. parcel c. baggage
d. load e. Answer not known

Identify the pattern of the following sentences
You all do know this mantle
a.SvoO b.SVC c.SVA d. SV e. Answer not known

Identify the pattern of the following sentences
My mother keeps the house clean
a SVOC b.SVOA c.SVIODO  d.SVC e. Answer not known

Identity the pattern of the following sentences
He bought a kilo of apples.
a.SVO b. SVIODO c.SVC d.SV e. Answer not known

Fill in the blank with suitable form of the verb given in bracket.

If Mani ................ (attend) the interview, he would have been selected.
a. had attended b. has attended c. have attended
d. attended e. Answer not known

Fill in the blank with suitable form of the verb given in bracket.
Il (is) rich, I would help the poor. (were)
a.am b. were c. was d. would e. Answer not known

Fill in the blank with suitable form of the verb given in bracket.

If Mala.................. (try) hard, she will get the prize.
a. tries b. tried c. would try
d. try e. Answer not known

Choose the appropriate antonym of the italicised word from the options given
The Venetian law cannot impugn you.

a. question b. stop c. acquit

d. convict e. Answer not known
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174.

175.

176.

177.

178.

179.

180.

181.

182.

183.

Use the correct word to fill in the blank spaces.
The elderly woman, though uninjured, was .............. shaken by her experience.
a. quiet b. quite c.quit d.qiute e. Answer not known

Use the correct word to fill in the blank spaces.

The ... ...... in the army are expected to maintain a high standard of discipline.
a. personal b. personnel c. personel
d. personal e. Answer not known

Use the correct word to fill in the blank spaces.

Our government is taking steps to counter the .............. attempts of the enemy to
create unrest in our country.

a. insidious b. invidious c. invidious

d. insedeous e. Answer not known

fear of being in public places where there are many other people is known as
a. xenapobia b. claustrophobia c. agaropobhia
d. acrophobia e. Answer not known

Find out the question tag of the following?

You have a pen,

a. don’t you? b. have you c. haven’t you
d. didn’t you e. Answer not known

Find out the question tag of the following?

You don’t have a pen,

a. do you? b. have you c. haven’t you
d. don’t you e. Answer not known

Find out the American English for cot
a. bed b. cot c. crib d. hood e. Answer not known

Find out the prefix for the following
Noble
a.ig b.in c.un d.ir e. Answer not known

Find out the suffix for the following
quench
a. able b.al c.ance d. or e. Answer not known

Which among the following is incorrect?
a. done to a turn - extremely well done
b. drop out - cease to complete

c. drop-outs - those who withdraw

d. heart and soul - pursue
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e. Answer not known

184.  Find out the plural form of genie
a. genii b. gene c. genus d. geni e. Answer not known

185.  Find out the meaning for the foreign word: en route
a. on the way to b. returning
c. on the wrong route d. on the short route
e. Answer not known

186.  Choose the suitable meaning for the idiom used in the following sentence
Fetch and carry
a. go on a voyage b. discuss a project c. run errands
d. take drastic steps e. Answer not known

187.  Choose the suitable meaning for the idiom used in the following

Do the math
a. to think carefully b. come to a conclusion c. take drastic steps
d. plan e. Answer not known

188.  Change the following sentence into reported speech
Victor said, I am fine. Thank you.

victor said he is fine and added thank you

victor told he was fine and thanked

victor said iam fine and thank you

victor said he was fine and thanked him

Answer not known

o an o

189.  Change the following sentence into direct speech
The spectator exclaimed in joy that they had won a great victory.

a. The spectator cried , ”Alas ! we have won a great victory.”
b. The spectator cried , Bravo ! we have won a great victory.”
c. The spectator said, yes, ! we have a great win.”
d. None of the above.
e. Answer not known
190.  Choose the appropriate linker
Be quick to hear ............ slow to speak
a. and b. then c. to d.in e. Answer not known

191.  Select the suitable idiom to complete the sentence: Let us settle the bill for the

damage
a. loud and clear b. fair and square
c. At the helm d. in short supply

e. Answer not known

192.  Match the words in Column A with the suffix in Column B
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193.

194.

195.

196.

197.

198.

199.

200.

Column A Column B

A. frequent 1. -let

B. book 2. -ise

C. capable 3. -ly

D. familiar 4. -ity
A B C D

a. 2 1 4 3

b. 2 4 3 1

C. 3 1 4 2

d. 4 3 1 2

e. Answer not known

Choose the appropriate stem word with which The Suffix "Ship" can combine.
a. Craftsman b. Secret c. Bright
d. Metal e. Answer not known

Identify the following sentence "Acquire Knowledge which will be useful to you
in later life"

a. Compound b. Simple c. Complex

d. Phrase e. Answer not known

Find the odd one out.
a. gradually b. slowly c. well

d. beautiful e. Answer not known

Select the correct question tag for the given sentence.

Don’t leave the fridge door open ?
a. Do you? b. Don’t you? c. Will you?
d. Won't you? e. Answer not known

Identify the sentence pattern of the following sentence.
Vani is going to school now.

a.SVvVC b.SVO c.SVAA

d.SVIODO e. Answer not known

Give the meaning of the idiom 'a bolt from the blue'.

a. Extremely happy b. Have no patience c. Unexpected surprise
d. Put on airs e. Answer not known

ZIP is an example for
a. Contraction b. Abbreviation c. Acronym
d. Clipped form e. Answer not known

Choose the correct pair to fill in the correct articles in the blank.
road to success is not bed of roses. Gandhi became
leader par excellence; that made Churchill greatest and the
most successful wartime leader.
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a
b.
C.
d
e

52 | Page

the the the a

a a a the
the a a the
the same a the

. Answer not known
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